°
AIT2]l R XFx] Ol = Egld Xkx| 3£ S S
att x| 2 S8, H|SE WX 24X Zzeh 1™
=S MdYH/XIE olo]x|
oYy
THEL:
AEl
M o2
LIAF &2l ofod =2 3 4 m|atx{z|
LIAF 2 E, 7Z0|A Fst M|, A 43t M2l
EE AR UstE anaa
HH.
A2z YR X EUXM(HES UMD BE A DY E=Z
T EEo YN ASEHULC S HEE Sl HIZEIX| A EF 1
HE{ JeE LIA EE= 2R Es= EHXE AISE = U&LICt
/)9/;
-
=
=
=
—
=N
L1
L3 L
0
SEEER == — 5
T T
2 | H
T
F1
EZ= 29
FEHS Ef Q] Az D SW D1 D2 D3 F1 F2 H L L1 L3 T
N N min.
K0977.1112 I ABCIC M12X1,5 8 M4 55 6,78 16 38 6,12 20 275 1,38 8
K0977.1116 I AERICIE M16x1,5 11 M5 8 10 25 71 87 28 38 1,3 10
K0977.1120 I ARICIE M20X1,5 14 M6 10 122 40 140 10,3 34 47 2,7 12
K0977.1212 I z3 M12X1,5 8 M4 55 678 20 60 6,12 20 275 1,38 8
K0977.1216 I zst M16x1,5 11 M5 8 10 35 103 87 28 38 1,3 10
K0977.1220 I zst M20X1,5 14 M6 10 122 60 175 10,3 34 47 27 12

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 11



